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1 Introduction
In 25.309 TR [1] the E-DCH active set is described to be identical or a subset of the DCH active set. It is proposed that the maximum E-DCH active set size be limited to 3 since a size greater than 3 would merely increase UE hardware complexity without significant system benefits.
2 E-DCH Active set
An E-DCH active set greater than 3 increases UE hardware complexity as shown in Table 1 below without significant system benefit (note that all of the simulations done in the HSUPA study item had maximum active sets of 3 or less).  A UE in SHO would almost never use the additional hardware (OVSF code and Demodulation resources) required for an E-DCH active set greater than 3. Also the existing DL DPCH and UL DPCCH resources for DCH active set larger than 3 can solve any power control issues with regard to the uplink near far problem and addresses pilot pollution problems effecting SRB signalling reliability. 
	Active Set Size

(N)
	E-DCH OVSF code Resources =
(E-AGCH + N*(E-RGCH+E-HICH))
	DL DPCH

OVSF code Resources
	Maximum OVSF code Resources

	3
	4
	3
	7

	4
	5
	4
	9

	5
	6
	5
	11

	6
	7
	6
	13


Table 1 – OVSF Resources vs. Active Set Size
One issue to consider is if the SRB is sent on the E-DCH instead of the DCH such as when there is no DCH allocated (i.e. no conversational service).  In this case, having  an E-DCH active set size up to 6 might prevent dropped calls in pilot pollution areas due to impoved SRB reliability.  One solution is to send the SRB on the DCH if pilot pollution is expected or detected in order to take advantage of the larger DCH active set
.  
If the maximum E-DCH active set is 3 and the maximum DCH active set is 6, then effectively 10 (4+6) demodulation and OVSF code resources are required. However when the maximum active set for both E-DCH and DCH is 6, then effectively 13 (7+6)  demodulation and OVSF code resources are required..
3 Conclusion

In this contribution we propose to limit the maximum E-DCH active set size to 3 cells to minimize increases in UE complexity. In the case of pilot pollution it is suggested that the DCH be used to send the SRB (instead of the E-DCH) since its maximum active set size is 6.
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� Another solution is to only allow E-DCH active set sizes larger than 3 when the SRB is sent on the E-DCH and there is no DCH.  However, UE complexity reduction would then require that the DPCH UE hardware resources could also work for the E-DCH downlink channels.
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